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Circular Motion
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A CD has a diameter of

120mm and spins at 540

RPM

a what is the CD's

tangental velocity
b What is the CD's

acceleration



A circular racetrack has
a diameter of 70M and
is banked at a 150 angle

a Draw the FBD looking
straight

at the front
of the car
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b At what speed can the
racecar take this turn
with no assistance
from friction



Apparent weight in circular motion

Jr W oooo

Wapps W W
N

Fret rn

AFnet a

M of Wapp w n

w
v

critical speed Vc is the

velocity at which n o

It is the slowest possible
speed at which the

passenger
can complete

the loop
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Orbital Motion

Think about it like a

projectile objects in

orbit are constantly
in free fall
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period of orbit
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Newton's law of Gravity
Every object in the

universe attracts every
other object
The force is directly
proportional to the

products of the masses

Gravitational Force Fei
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This is an inverse

square relationship
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what is the gravitational
force of the earth

mass of 5.98 1024 kg and
fadius of 6.37 106 m on

a 60kg person



Solutions
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Don't overthink the

problem


